pr [ GeV/e | do/dpr (prompt Jip ) do/dpr ( JAp from b)

Forward (1.5 < y < 4.0)

0.0-1.0 1496 £ 5.7+2.0+ 58 185+£1.6£09+0.7
1.0-2.0 319.0+11.1£53+£124 389£23+05+1.5
2.0-3.0 2744+ 71+£46+£10.7 388+214+09+15
3.0-4.0 183.7+ 51+344+ 71 262+£1.6+1.8+1.0
4.0-5.0 1130+ 32+1.7+ 44 17.0+£1.1+£02+£0.7
5.0 -6.0 996+ 21+£0.7+ 2.3 9.8+0.8+0.3+04
6.0—-7.0 309+ 1.4+02+ 1.2 5.8+0.6+0.2+£0.2
7.0—-8.5 129+ 06£02% 0.5 3.5+0.3+0.0+0.1
8.5 —14 26+ 0.1+0.0+£ 0.1 09£0.1+0.0£0.0
Backward (—5.0 < y < —2.5)

0.0-1.0 187714056+ 90 126£21£1.0£0.6
1.0-2.0 425.0+23.6 £7.8+20.5 31.1+38+41+15
2.0-3.0 323.9+£16.74+9.1£156 254+3.0+4.4+1.2
3.0-4.0 182.7+ 96+22+ 88 175+21+1.1+£08
4.0-5.0 89.6+ 5513+ 43 120£1.7£08=*0.6
5.0 -6.0 444+ 3110+ 21 6.8+1.2+02+£03
6.0-7.0 2414+ 21£04+ 1.2 31+£07+£04£0.2
7.0—-8.5 85+ 09+03+ 04 1.8+044+0.1+£0.1

8.5—14 19+ 02+0.0+£ 0.1 0.5+0.1+0.0£0.0




